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005

3.1
2009 4 1
3.2
2010 4 1 2011 3 31
4
4.1
001
002
004
005
4.2
421
4.2.2
005
4.3
001
002
004




M-1 001 kl/ 630.327
M-2 001 88.9
M-3 001 002 004 | GJ/KI 39.1
M-4 001 002 004 82.0
M-5 001 002 004 | t-C/GJ 0.01890




M-6 002 kWh/ 57,602
M-7 002 % 410.0
cop
M-8 004 005 t-C/kWh 0.0000862
M-9-1 004 kWh/ 521,070
M-9-2 004 kWh/ 29,850
M-10 004 103.8
cop
M-11 004 488.3
273.3

cop




M-12 004 kWh 1,916

6 10

HHP-1

HHP-1
M-13-1 005 h/ 8,405
M-13-2 005 h/ 8,260
M-13-3 005 h/ 8,166
M-14-1 005 kWh/ 142,628
M-14-2 005 kWh/ 77,555
M-14-3 005 kWh/ 16,805




M-15-1 005 kw 30
M-15-2 005 kw 30
M-15-3 005 kw 11




7.1
| | co2
001
630.327 Kkl 39.1 GJKI 0.01890 t-C/GJ 1,708.0 t-CO2
002
57,602 kwh 0.0000862 t-C/kWh 18.2 t-CO2
004
550,920 kwh 0.0000862 t-C/kWh 1741 t-CO2
005
236,988 kwh 0.0000862 t-C/kWh 749 t-CO2
001
EM pjoo1= F tuel, pjoorX HV fuel, pjoorX CF efuel, pjoorx 44+ 12
EM pjooz 001 t-C02/
F fuel, pjoot 001 kl/
HV fuel, pjoot 001 GJ/KI
CF efuel, pjooz 001 t-C/GJ

F fuel, pjoor = 630.327 kl1/
HV fuel, pjoor = 39.1  GJ/kI
CF fuel, pjoor = 0.01890 t-C/GJ

EM pjoo1 = 630.327 kl/ x 39.1 GJ/KI x 0.01890 t-C/GJ x 44+ 12
=1,708.0 t-C02/

002
EM pjoo2 = EL pjoo2 X CF electricityx 44+ 12

EM pjoo2 002 t-C02/
EL pjoo2 002 kWh/
CF electricity t-C/kWh

EL pjoo2 = 57,602 kWh/




CF electricity = 0.0000862  t-C/kWh

EM pjoo2 = 57,602 kWwh/ x (0.0000862 t-C/kWh x 44 + 12
= 18.2 t-C02/

004
EM pjoos = EL pjoos X CF electricityx 44+ 12

EM pjoos 004 t-C02/
EL pjoos 004 kWh/
CF electricity t-C/kWh

EL pjoos = 550,920 kWh/
CF electricity = 0.0000862 t-C/kWh

EM pjoos = 550,920 kWh/ x 0.0000862 t-C/kWh x 44 + 12
= 174.1 t-C02/

005

EM pioos = EL pjoos X CF etectricityX 44+ 12

EM pjoos 005 t-C02/
EL pjoos 005 kWh/
CF electricity t-C/kWh

EL pjoos = 142,628( 2 ) 77,555( 2 ) 16,805( 1 )
= 236,988 kWh/
CF electricity = 0.0000862  t-C/kWh

EM pjoos = 236,988 kWwh/ x (0.0000862 t-C/kWh x 44 + 12
= 74.9 t-C02/

4
EMpi = EMypjoor + EM pjoo2 + EM pjoos + EM pjoos

EMy 4 t-C02/



EMy= 1,708.1 t-C02/ 18.2 t-C02/ 174.1 t-C02/ 74.9 1-C02/
- 1,975.2 t-C02/
7.2
| coz
001
683.4 Kl 39.1 GJKI 0.01890 t-C/GJ 1,851.8 t-CO2
002
265 Kl 39.1 GJKI 0.01890 t-C/GJ 718 t-CO2
004
2841 K 39.1 GJKI 0.01890 t-C/GJ 769.8 t-CO2
005
589,776.0 kWh 0.0000862 t-C/kWh 186.4 t-CO2

001

Q fuel, BLoos= F tuel, pjoosX HV tuel, pjoo1X € pjoor+ € BsLo0L

Q fuel BLOOL 001
F fuel, pjoot 001
HV fuel, pjoot 001
€ pjoor 001

€ BLOOL

Ffuel,pjoor 630.327 klI/
HV fuel,pjoor 39.1 GJ/KkI
€ pjoor 88.9 %
€ Boor  82.0 %

Q fuel BLOOL 630.327 kl/
26,719.6 GJ/

GJ/
kl/
GJ/Kl

x 39.1 GJ/KI x 88.9 % + 82.0 %

EMsL 001= Q fuel, BL001X CFtuel,BLoos X 44+ 12

EM BLooz 001
Q fuel BLOOL 001

CF fuel,BLo01

€02

t-C02/
GJ/

10

t-C/GJ




Q fuel BLOOL 26,719.6 GJ/
CF fuel,BLo01 0.01890 t-C/GJ

EMsBloor  26,719.6 GJ/ x 0.01890 t-C/GJ x 44 + 12
1,851.8 t- C02/

002

Q fuetsLooz= EL pjooex 3.6% 107°X € pjooet € BsLooz

Q fuel BLOO2 002 GJ/

EL pjoo2 002 kWh/

€ pjoo2 002 Ccop %
€ BLOO2 %

EL pjoo2 = 57,602 kWh/
€ pjooz= 410.0 %
€ BLooz= 82.0 %

Q fuel Loo2 = 57,602  kWh/ x 3.6x 10%x 410.0 % =+ 82.0 %
1,036.8 GJ/

EMBroo2= Q fuelBLoozX CF tuetrooz X 44+ 12

EM sLoo2 002 c02 t-C02/
Q fuel BLOO2 002 GJ/
CF fuel,BLo02 t-C/GJ

Qfuelpoz  1,036.8 GJ/
CFiuelBrooz 0.01890 t-C/GJ

EMsBloo2 1,036.8 GJ/ x 0.01890 t-C/GJ x 44 + 12
71.8 t-C02/

004

Q fuetsLoos= EL pjoosx 3.6% 103X € pjowst € BLo0s

Q Fuel,BLO04 004 GJ/
EL pjoos 004 kWh/

11



€ pjooa 004 CoP
€ BLO04 COP
X %

6 10 HHP-1

EL pjoosa= 521,070 kWh/

€ pjooa= 488.3 %

€ Broos= 103.8 % x 82.0 %
85.1 %

Q FuelBLooa= 521,070 kWh/ x 3.6x 10°%x 488.3 % =+ 85.1 %
= 10,763.6 GJ/

EL pjooa= 29,850 kWh/

€ pjooa= 273.3 %

€ Broos= 103.8 % x 82.0 %
=85.1 %

Q FuelBLoos= 29,850 kWh/ x 3.6x 10%x 273.3 % =+ 85.1 %
= 345.1 GJ/

Q FuelBLoosa= 10,763.6 345.1
=11,108.7 GJ/

EMeroos= Qruel,srooaX CFfuelproos X 44+ 12

EM BsLoos 004 c02 t-C02/
Q fuel BLOO4 004 GJ/
CF fuel,BL004 t-C/GJ

Q fuel BLOO4 11,108.7 GJ/
CFfuelLoos 0.01890 t-C/GJ

EMgBLoos 11,108.7 GJ/ x 0.01890 t-C/GJ x 44 + 12
769.8 t-C02/

005

12



EL sLoos= EL beforeoos= O BLoosX [3 pjoos

E C beforeoos= EL beforenos= O BLo0s

EL sLoos 005 kWh/
EL beforeoos kwh/
Q BL0oS h/
B pj0os 005 h/
EC beforeoos kW
2 x 1

B pioos= 8,405 h/
EC beforeaos =30 kW
EL BLoos= 8,405 h/ x 30 kw
= 252,150 kWh/

2 x 1
B pioos= 8,260 h/
EC beforecos= 30 kW
EL BLoos= 8,260 h/ x 30 kw
= 247,800 KkWh/

x 1

B pioos= 8,166 h/
EC beforeoos =11 kW
EL BLoos=8,166 h/ x 11 kw
= 89,826 kWh/

EL BLoos = 252,150 247,800 89,826 kWh/
= 589,776 kWh/

EMBrLoos = ELBLoos X CFelectriciyx 44 + 12

EM sLoos 005 t-C02/
EL sLoos 005 kWh/
CF etectricity t-C/kWh

EL BLoos= 589,776 kWh/
CF electricity =0.0000862 t-C/kWh

EMBLoos= 589,776 kith/ x 0.0000862 t-C/kWh x 44 + 12

13



= 186.4 t-C02/

4
EMegL= EMBgLoos + EMBLoo2 + EMBLoosa + EM BLoos

EMs. 4 t-C02/

EMs.=1,851.8 t-C02/ 71.8 t-C02/ 769.8 t-C02/ 186.4 t-C02/
= 2,879.8 t-C02/

7.3

LE 0 t-CO2
7.4
001
(7.2) EMBt 001 1,851.8 t-CO2
(7.1) EMpjoos 1,708.0 t-CO2
(7.3) LE 0 t-CO2
ERoo1 143 t-CO2
002
(7.2) EMBt ooz 71.8 t-CO2
(7.1) EMpjoo2 18.2 t-CO2
(7.3) LE 0 t-CO2
ERooz 53 t-CO2
004
(7.2) EM Brooa 769.8 t-CO2
(7.1) EM Bjoos 1741 t-CO2
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(7.3) LE 0 tCO2

ERGoo4 595 t-CO2
005
(7.2) EM BLoos 186.4 t-CO2
(7.1) EM pjoos 749 t-CO2
(7.3) LE 0 t-CO2
ERoos 111 t-CO2

(7.2) EM 51 2879.8 t-CO2
(7.1) EM pj 1975.2 t-CO2
(7.3) LE 0 tCO2

ER 902 t-CO2




001

| 6894 635.9 535 |
002

| 267 14.8 1.9 |
004

| 28656 141.7 1449 |
005

| 1517 61.0 907 |
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